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treated as wrong answer,

Each question has four alternative responses marked

serially as 1, 2, 3, 4. You have to darken only one

circle or bubble indicating the correct answer on the

Answer Sheetusing BLUE BALL POINT PEN.

6. The OMR Answer Sheet is inside this Test Booklet.
When you are directed. to open the Test Booklet,
take out the Answer Sheet and (il in the particulars
carefully with blue ball point pen only.

7. /3 part of the mark(s) of each question will be
deducted for cach wrong answer, (A wrong answer
means an incorrect answer or more than one answers
for any question. Leaving all the relevant cireles or
bubbles of any question blank will not be considered
as WTong answer.)

w

8. The candidate should ensure that Question Paper
Booklet No. of the Question Paper Booklet and
Answer Sheet must be same after opening the
polythene bag/seal. In case they are different, a
candidate must obtain another Question Paper.
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9. Mubile Phone or any other clectronic gadget in the
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found with any of such objectionable material with
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incomplete Roll Number.
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Version of the question. the English Version will be
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Warning : If a candidute is found copyving or if any
unauthorized material is found in histher possession,
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all fiture examinations.
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afe el W owEE 6.00 FS W
(AM.) &, @ fpm qum= W wHA
11.00 & urd: (A.M.) 8T ?

(1) 60°9d (2) 70° ufe=m
(3) 75° @ (4) 85°9d
zf&:qzzﬁwzgyhmg‘xm,ﬁumﬁa
20

(A) fer-a =1 &=

(B) fea-tra i @i

(C) A 1 &1

(D) g2efi w1 31T o

(1) aa (A) 2y (A)a (D)
(3) (A)F(B) () e (C)

TEl YA A

(A)meft svare Tansti fi uify wEE
B2 | -

(B) @t 31w Y@ weie i gl SR
i § afed) 2 |

(C) wvft swerrer T@nati Hea -
et ae Y- O TSI & |

(D) Tsf Fiener @, S HHGERE
B 2 |

(1) == (O)

(3) (A)a(€)

(2) wae (D)
¢ (B)a (D)

(1) =gl a 3=h I
(2) Wued 9 Hed

(3) ®Tal 9 ST Heeel
(4) TR A hTS

S 3 ST TR TR v
R U g&d HETHTTL 1 1 715 AT ?
(1) uf=rn (2) HererrE
(3) AT (4) TiedrE

1-2

If the time at Greenwich is 6.00 AM,
what will be longitude at which the
timeis 11.00 AM ?
(1) 60° East (2) 70° West

(3) 75% East (4) 85° Fast

[ the carth ceases to rotale, its effect
will be on ‘
(A) formation of day and night

(B) duration of day and night

(C) formation of scasons

(D) centrifugal foree of the carth

(1) Only(A) (2) (A)and (D)
(3) (A)yand (B)  (H Only (€)

Choosc the correct statements ©

(A) All the latitudes
circumfcrence.

have equal

(B) All the latitudes divide the globe
into two cqual halves. .

(C) The imaginary planc of all the
latitudes through  the
carth’s centre.

(D) All  the
cquidistant.

(1) Only (C)

(3) (A)yand (C)

passes
latitudes  arc  almost

(2) Only (D)
(4) (B)and (D)

Conrad
hetween

discontinuity ~ scparates
(1) the outer and inner crusts

(2) the crust and the mantle

(3) the outer and the inner mantle

(4) the outer and the inner core

What was the name of mega occan
surrounded  the * single  continental
mass. according to Wegner ?
(1) Pangaca (2) Panthalassa
(3) Laurasia (4h) Gondwana
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frifra § & 9 w1 = R W@
TR ?

(1)

(2) "rdftsq

(3) SaTETHEt

(4) Ve (arguTE)

fr=ifha & @ argRveey dued § A=l

1 B T AT YIwd &1 Tt 30

FHE 7

(1) A — BRSSH — 3 —
PIET STEIHTFATTS

(2) EREOH  — Pl -
SRIATFATES — it

EaCT

(h (B)a(C)
(3) (Bya(D)

2 (A)a (D)
4) (A)=(C)

el ol Tt 2

(1) fead S & ga 1 3R
(2) T A ST 8 ue Y 3R
(3) fe7 o uer @ s Y 3tk
(4) fr ¥ oer @ /1 Y 3

fova 4 gaifts sar ww o
EIGIE :

() e HREd (2) e
3) freafiad (4) s H o

6.

9.

10.

Which one of the following is not a
sudden force ?

(1) Earthquake
(2) Compression
(3) Volcano
(4) Avalanche

Which one of the following is correct
ascending order of gases by percent
volume in atmospheric composition ?

(I) Oxygen — Hydrogen — Argon —
Carbon dioxide

(2) Hydrogen — Argon - Carbon

dioxide — Oxygen
(3) Oxygen - Carbon dioxide -
Hydrogen — Argon

(4) Hydrogen — Carbon dioxide -
Argon — Oxygen

Thermally induced pressure belts are
(A) Euatorial low pressure belt

(B) Sub-tropical high pressure belts
(C) Sub-polar low pressure belts
(D) Polar high pressure belts

() Byand(C)  (2) (A)and (D)
(3) (B)and (D) (4) (A)and (C)

Sea breeze blows from
(1) seato land in day
(2) seato land in night
(3) land to sea in day

(4) land to sea in night

The greatest tidal range in the world is
found in :

(1) Hudson Bay
(3) Bristol Bay

(2) Chigneta Bay
(4) Bay of Fundy



1. BRwmgilcaadig ?

13.

14.

T g Wi
(1) e — 3@
(2) HA ~ T
(3) IR ~
(4) wEwe (W) - W
-1 = gE-11 & gafaa Al T
qﬁﬁ?%=ﬁiﬁq%ﬁimuﬁmzmﬁ§q
& I H = Hif

-1 _—.
(7) (3g™)
(A) T (i) e % wHi

(B) @A (i) BICATTR 98K

(C) HEQ (i) 3TEHEH W
(D) TEEd  (iv) FEAR
%

(A) (B) () (D)
(1) (i) @) () Gv)
(2) (i) @i (iv) ()
(3) (i) () (V) ()
() (iv) (i) () (D)

2011 Y ST % ITTET TG H To¥

it wien e o1 wfaw@ 8
NS Higer

(1) 83.78 76.60

(2) 80.51 67.06

(3) 79.63 66.77

4y 82.14 65.46

TR A afefera R I 8

(1) GDPH

(2) GNPH

(3) NDPH

(4) 38 @ Tonelt o 7

i1

13.

14.

Which is not a correct match ?

Ocean Currents Nature
(1) Bengucla — Cold
(2) Canaries — Warm
(3) Auglhas ~  Warm
(4)  Humboldt (Peru) - Cold

Match List-1 with List-11 and select the
correct answer using the codes given
below the lists :

List-1 List-11
(River) (Origin)
(A) Damodar (1) Near Triambak
(B) Son (i)  Chotanagpur

Plateau
(C) Kaver (i)  Amarkantak
Platcau

(D) Godavari  (iv) Brahmagiri
Codes :
(A) (B) (C) (D)
(1) (i) @i () Gv)
(2) (i) (i) (v) ()
(3) (i) (i) vy ()
(4 (iv) (i) ) (1)

According to 2011 Census,  the

percentage of male and temale literacy
in India is :
Male Female
(1) 83.78 76.60
(2) 380.51 67.06
(3) 79.63 66.77
(4) 82.14 65.46

Transter payments are included in
(1 GDP
(2) GNP
(3) NDP

(4) None of these
05
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17.
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05

IYNIT = U SR T S e
(1) =aftpma 319

(2) =AfHT T HE T 3

(3) ff o

(4) 3T 9 IS T

forerg faw g 2
() " fEw - i3 srvenfe
RELIGH

(2) = faw ~ wrpfies smsi
& HI Yt )
I

(3) Hhel oW~ yoagm

(4) Fgu _

afc e 3m 50,000 R, Jafes
JRHT 2,000 8, IUAM 42,000 %,
Hafehep =TSt AT 2,000 2 3 Jafee
=4 4,000 B, & @ A 371 Bnft

(1) 42,000 (2) 44,000
(3) 46,000 (4) 48,000

(1) & St =mEd & 3uh g we
e 2 |

(2) P <l e 6 g §
e At E |

(3) AT AT b ETd ST |

(4) hma S i wEe TR e R |

1 1 @ 5w &3 o i < a9 6
STTETOT 941 2 ?

(1) wifge fifa

(2) fafram Sy

(3) A

(4) I & Gyl w1 Iawa Bfvaq
HE °

IS.

16.

17

18.

19.

Sum of consumption spending  and
personal saving equals

(1) Personal income

(2) Personal disposable income

(3) Private income

(4) None of these

Net investment refers

(1) Gross investment — Unexpected
destruction
_ of capital
(2)  Gross investment — Loss of
capital due
to natural
calamitics
(3)  Grossinvestment — Depreciation

(4)  All of'these

If personal income is 50,000, personal
income tax is 2,000, consumption is
42,000, personal interest payments are
2.000, personal saving is 4.000. then

~ disposable income cquals

(1) 42.000
(3) 46.000

(2) 44,000
(4) 48.000

Choice is fundamental to cconomic

behaviour because :

(1) people tind it difficult to choose
what they want., :

(2) resources are limited in relation to
people’s wants.

(3) choosing  make
rationally.

(4) prices depend on people making
choices,

people  act

In which of the following ficlds the
concept  of  consumer’s  surplus s
useful ?

(1) Monetary policy

(2) Investment policy

(3) Tax policy

(4) Fixing remuneration of factors
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I~

I~
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‘Tefm thew’  (Ceteris

ERIGIFAED -

(1) 37 = PR = e wfed @ 2 |

(2) 3 T T = bl T & |

3) Froft = w1 wefed 0 a3
<} 1 yew i war g |

(4) ?aﬁ?t@aﬁﬁf@ﬂaﬂtaﬁﬁ

|

Paribus)

“Hg1 a8 & S HE1 A1 B B 17 gE A
218 T € TS #

(1) Bre fore g
(2) T I
(3) TH.TAERL G
(4) HREUTGH

90 % e i iRl AT A
HEST

(1) Titet

(2) IerihT

(3) GTHTSRT

(4) SRl

el sreferaen # e § @ A W &=
Ffrena ASHTR M T 8 ?

(1) SeT &

(2) Terr &

(3) N Td GET R &

(4) Taeh e

VT <t 7 frw = Aife <y arafu @
(1) Taay
(2) ur= o
(3) e
(4) THE

|35
!‘-J

o
-

24,

Ceteris Paribus indicates that

(1) other variables  affects the
dependent variable.

(2) other  variables
independent variable.

(3) the value of other variables which
influence the dependent variable
are unchanged.

(4) demand and supply both are

_constant and in equilibrium.

atfects  the

“Money is what money doces”, this
detinition of money is given by

(1) Hartley Withers
(2) Marshall

(3) F.A. Wakar

(4) Crowther

Rapid integration or inter-connection
among countries is known as :

(1) Privatisation
(2) Liberalisation
(3) Socialisation
(4) Glohat]isa.ltion

Which one of the following scctor
provides highest employment in Indian
economy ?

(1) Industry scctor
(2) Services sector
(3) Agriculture and allied activites

(4) Forcign scctor

The duration of India’s new foreign
trade policy is
(1) Ten ycars
(2) Five years
(3) Three years
(4) One year
05
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I < 1 201 A5 1 9g@ 327 B
(1) Tt =1 IvgE

(2) =wof gig

(3) d=afg

(4) <ftst, wmfie STk stfues wameh gfg

frafafaa 4 @ #i w1+ afufsrs
doni & TrafE a8 & 2

(1) faguht fafra weri w1 vaum |
(2) SHISAT BT SR |

(3) Toqeft = i feraifta o |
(4) |TE T G HET |

(1) #0ee 1. aEaa
(2) efas $em
(3) Tfsrre 3

(4) Tohie IIEH

freifera & 4 = usHifas faga &
uaH o fervemd 48 e 2 2

(1) =fre swA

(2) i e

(3) U eme

(4) ShES HIET

= 1 9 forg ger 1 duan = f99 A
A 3y TS % forw swes WA 2 7
(1) TTa derar

(2) HiteATs Aerar

(3) LA -THETT Aere

(4) oFfifza Qo

I
"

29,

Principal objective of India’s 12" plan

1S

(1) Removal of poverty

(2) Sustamable growth

(3) Faster growth

(4) Faster.  sustainable  and
inclusive growth

more

Which one of the following does not
belong to the functions of commercial
banks ?

(1) Management of forcign exchange
reserves

(2) Accepting deposits

(3) Financing foreign trade

() Credit creation

The author of “Psychopathology and
Politics” is :

(1) Farold D. Lasswell

(2) David Easton

(3) Gabricl Almond

(4) Talcott Parsons

Which one of the tollowing does not
belicve in the Decline of Political
Theory ?

(1) David Easton

(2) Isaiah Berlin

(3) Robert Dahl

(4) Alfred Cobban

Which of the following types of
legitimacy does Max Weber consider
suitable for the modern state ?

(1) Traditional legitimacy

(2) Charismatic legitimacy

(3) Legal-Rational legitimacy

(4) Transcendental legitimacy
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= ST Y T R TR R 2

(1) =g 13
(2) IR 12
(3) 334 14
(1) 3G 32

-1 -1

(A) EHAT I (1) 313’?@619—22
AHRR

(B) T@EFEAH (i) TS 32
FrftreRR

() wEpla Sl (i) ITeSg 14-18
forem waiel
HTRR

(D) @ifrenfie  (iv) 384 29-30
IUERI &

R
B

(A) (B) (C) (D)
(1) (i) (1) (iv) (i1)

(2) () (i) vy Gi)
(3) (iv) (i) (i) ()
(4) (i) (v) @i @)

T 3 G § g e e |
(1) s IV, 3<8% 51

(2) W IV, 3F<8e 51 &

(3) W IV %, 3938 51

(4) W IV %, 388 51 %

T
2

Under  which  Article of the
Constitution of India, the word ‘State’
has been defined ?

(1) Article 13
(2) Article 12
(3) Article 14
(4) Article 32

Match the tollowing :
List-1 List-11

(A) Rightto (i) Article 19-22

Equality
(B) Rightto

Freedom

(i) Article 32

(C) Cultural and  (iii) Article 14-18
Educational
Rights

(D) Rightto
Constitutional

(iv) Article 29-30

Remedies
Codes :

(A) (B) (€) (D)
(1) @i (@) vy ()
(2) (i) (i) @Gv) (i)
(3) (v) (i) () @)
(@) (i) (iv) @) (@)

In the Constitution of India,
Fundamental duties are enshrined in

(1) Part IV, Article 51

(2) Part IV, Article ST A
(3) Part IV A, Article 51
(4) Part IV A, Article 51 A
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frefafaa wudi 4 & @ @1/ yia %

Tyafa & gay A g /3 ¢

(i) tgafd s fafs dsa gm
fraffoa 2 2, el dae % ot
T Mo & |

(ii)ﬁmaﬁﬁiﬁﬁﬁ%ﬁwaﬁtm
o wwisti ¥ feife o=
Hatee Hed w9 8, St agefy &
fFaEA s g |

(iii) 35 fratem 4, feeeht 3tk ggabt
A faum sl % faifaa 3w
HIEI T o 2 |

(iv) Thel Tshaoilg Wa & " @
ek St i someft sk
TH TaqH AT B 8 |

g}jﬁqnﬁ@wwm@m

% :

(1) (iii) 3 (iv)

(2) (i), (ii) 3k (iii)
(3) whae (iv)

(4 (ii), (iii) 3 (iv)

W ¥ dReE % W ¥ smede i
ITA AT H qed =l
frgfr F1 sevr@ @ 2

(1) 37T 125

(2) ITT=Vg 126

(3) 3TTesg 127

(4) Irg=sg 128

33.

3

4.

th

Which of the following statements are
correct regarding the President of
India ?

(i) President is eclected by an
clectoral college in which all the
members of Parliament
participate.

(i) President is clected by an electoral
college  composed  of  clected
members  of  Parliament, and
clected members of all Legislative
Assemblies of the states.

(iii) In his election, elected members
of Legislative Assemblies of
Delhi and Puducherry participate.

(iv) The system of  proportional
representation by means of single
transferable vote and secret ballot
voting apply.

Sclect the correct answer using the

codes given below :

Codes :

(1) (iii) and (iv)

(2) (1). (i) and (iii)

(3) (iv)only

(4) (i), (iii) and (iv)

The constitutional provision relevant
tor solving questions of inconsistency
between laws made by Parliament and
laws made by the Legislatures of
States is found in

(1) Article 247

(2) Article 252

(3) Article 253

(4) Article 254

Which Article of the Constitution of
India provides for appointment of
ad-hoc judges in Supreme Court ?

(1) Article 125 '

(2) Article 126

(3) Article 127

(4) Article 128
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56 % mag 1 Grefafea @ @ =9 W
FUF A & 7

(1) iz & % ud TE0 HHIIE H 9
o ¥ fau et o daet @l
st femem Trm ot |

w1 Tt fergm W o1 9 aRe
0 aTell TEeh Hizen T8 & |

(3) U AT TEel ik gatd
8. 91 wE % noras feed TEiE |
e Tty o | '

2T IR feham T B |

(2)

(4)

frefafiga i 4 fem s Fetem
qaell A serRites aifern wefia (SefeH)
o1 TEAHTA Temm TR Ot ?

(Hh 1999 (2) 2004

(3) 2009 (4) 2014

fop st 1 sicTasd HEAH HEl

A8 7

(1) 3TEuHUE 31 fava

(0) w1 foerd d 30T R faeww
EEa

(3) el T S ok ufe
faerra dep
() Forga S sl fas S

foret oft TEr A ST Sid e
srgfad S % 9 7 et HE A1
(1) wEe

(2) ¥R o Tgafd

(3) e

(1) 31 /3. I o 1A h

10

37.

Which of the following statement is
incorrect  regarding  India’s  foreign

policy under Prime Minister Narendra
Muaodi ?
(1) All the SAARC leaders were invited
o paticipate  in the  swearing
ceremony of Narendra Modi.
Sushama Swaraj is not the first
woman o hoid
Forcign Mintster.
Barak Obama became first US
President to erace the Republic
Day celebration of India as Chiet
zuest.
(4) *Neighbourhood First Policy” has
been initiated by Narendra Modi.

(2)

the oftice of

(3)

n which of the following General
Elections, Electronic Voting Machines
(EVMs) were used for the first time ?
(1) 1999 (2) 2004

(3) 2009 (4) 2014

Which institutions are called as

Brettonwoods institutions !

(1) IMF and World Bank

(2) New Development Bank
Asian Development Bank

and

(3)

Islamic Development Bank and
Asian Development Bank

World Bank
Development Bank

and Asian

The power to include or exclude any
community as Scheduled Castes or
Scheduled Tribes is with

(1)
(2)
(3)

() Chairman of SC/ST Commission

Parliament
President of India

Prime Minister

05
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319 ¥ S |1 U U 6 arafys
Th{d % gy 9 wE A 2 2

(1) SHITE U foyrg famm 2 |

(2) EHISTE Ush 5 for 2 |

(3) | Teh 3T fersm 2 |

(4) HHTE T vl fagm 2 |

T & ayg hl B @ v fsivar @
Seol@ s 3 o g R e
gt H 4 fopn 2 2

(1) g 3MHR

(2) THdT Y =

(3) TmIRTeR 31T

(4) | GieH

<1 3 & e sl v o 3wl 3|
TR RN A & &1 5 srdafdas,
fafte fea-wum wd =afema G w
JNTRE B &, HeeTrar g

() sefirs e (2) fadas agg
(3) @R (4) IR

“Faet A INEdT A IR FuaT §
Bid 8 37rid gurs 1 ST O YR
(1) "M fagaor

(2) amfoTes giEda

(3) wmHTiTes ifiehT

(4) EHISHRT

HRE T A0S We R G
T % @ B & ?

(1) w.w. shifame (2) v, g
(3) T a3 (4) f.um. g

0 ¥ B W1 UH TEEReRdT ST BT
T

(1) TSifaen et

(2) qrfsTeR =

(3) =nfier shgar

(4) Qe e

11
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45.

Which one of the following is not true
about the real nature of Sociology 7

(1) Sociology is a pure science.

(2) Sociology is a concrete science.
(3) Sociology is an abstract science.
(4) Sociology is an empirical science.

Which  one  of the following
characteristics  of group is not
mentioned by Bierstedt in his book
“The Social Order” ?

(1) Small size

(2) Consciousness of kind

(3) Social interaction

(4) Social organisation

Two or more than two persons
behaving towards each other in a way
that is impersonal, concerned with
specialized interests and guided by
consideration of efficiency is called
(1) Primary group

(2) Secondary group

(3) Reference group

(4) Closed group

“Only such alternations as occur in
social  organisations, that is, in
structure and functions of society” is
called

(1) Social control

(2) Social change

(3) Social role

(4) Socialisation

Who is the author of the book “Caste
in Modern India and Other Essays™ ?
(1) M.N. Srinivas (2) S.C. Dube
(3) Andre Beteille (4) G.S. Ghurye

Which one of the following is not the
cause of communalism ?

(1) Political interst

(2) Social control

(3) Religious dogmatism

4) Communal organization
o=
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related
social

Santhanam  Commiltee
with  prevention  of
problem?

(1) Child Marriage (2)  Dowry

(3) Prostitution (b Corruption

wias
which

Which amongst the following does not
belong to *High Risk Group® for the
transmission of AIDS virus ?

(1) Prostitutes

(2) School children

(3) Drug Addicts

(4) Homosexuals

Which amongst the following docs not
fall in the category ot “Hindu Ashram-
Vyavastha® ?

(1) Grihastha Ashram

(2) Vanaprastha Ashram

(3) Vriddha Ashram

(4) Sanyasa Ashram

Which amongst the following is not an
objective of Hindu Marriage ?

(1) Dharma (2) Rati

(3) Praja (4) Artha

A family in which, for both practical
and formal purposes, authority rests
with the woman (mother) is called

(1) Matriarchal ~ (2) Matronymic
(3) Matrilocal () Matrilincal
Who said that “Moksha™ is extreme
object of human life and the symbol of
internal spiritual teeling of human ?

(1) K.M.Kapadia (2) P.V.Kane

(3) Irawati Karve (4) G.S. Ghurye

In Vedic culture, which one of the
(ollowing ‘Panch-Mahayagyas™  was
not performed by a Grahastha ?

(1) Pitra yagya
(3) Bhoot yagya

(2) Putri yagya
(4) Dev yagya
05
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“Public
and

Who  has  said  that
Administration is the detailed
systematic application of law” ?
(1) L.D. White

(2) Luthar Gullick

(3) Woodrow Wilson

(4) Marshall E. Dimock

Which period is considered as the
“Golden era of principles” in  the
development of Public Administration ?
(1) I887-1926 (2) 1938 -1947
(3) 19271937 (4) 1948 - 1970

Public Administration includes all the
activities of the government relating
to legislature, executive and judicial
branch. This reflects the

(1) Narrow view of Public
Administration

(2) Broader view of Public
Administration

(3) Integral view ot  Public
Administration

(4) Managerial  view  of  Public

Administration

Which one of the following considered
politics and administration as separate
discipline ?

(1) Rooscvelt

(2) John F. Kennedy

(3) Ronald Reagan

(4) Woodrow Wilson

Which of the following is not matched
correctly ?

(1) L.D. White = Introduction to the
Study of Public
Administration
(2) Herbert = The Functions of
Simon the Executive
(3) M.P. Follet - Creative
Experience
() W.F. — Principles of
Willoughby Public

Administration

The book *Prismatic Society Revisited’
was written by :

(1) Woodrow Wilson

(2) Fred W. Riggs

(3) F.W. Taylor

(4) Herbert Simon
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(1) WIHehR Td Hed
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Who criticised the principles of
organization as ‘proverbs’ ?

(1) Elton Mayo

(2) Chester Barnard

(3) Herbert Simon

(4) Dickson
The classical treats  an
organisation as :

(1) Anopen system

(2) A non-existing system

(3) A closed system

(4) An all pervading system

theory

Which one of the following is assigned
to the subordinates in delegation ?

(1) Authority & duty

(2) Duty and responsibility

(3) Duty, authority and responsibility
(4) Responsibility and authority

Which one of the following pairs is not
correctly matched ?

(1) Scientific — Taylor
Management '

(2) Burcaucratic ‘— Max Weber
Theory

(3) The Managerial — Simon
Grid

(4) Hiecrarchy of — Maslow
Needs

Who has propounded the two factor
theory ot motivation ?
(1) Herzberg (2) Maslow

(3) Mecgregor (4) Fiedler

According to Lokpal and Lokayukta
Bill 2011, the oftice of Lokpal shall
consist of'a Chairperson and maximum
number of

(1) 7 members
(3) 9 members

(2) 8 members
(4) 10 members
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68.

Consider  the  following  statements

about Generalist Civil Services

(1)  They mainly work at most of the
top administrative positions.

(i) They act as cexccutive heads of
some organizations.

(111) They advice to the ministers.

(iv) They act as head of some public
CNLerprises.

Sclect the correct answer by using the

codes given below :

Codes :

(1) (). (1), (i) and (iv)

(2) (1), (i) and (i)

(3) (i) and (ii1)

(4) (i) only:

Vedas propose that the whole universe
is an ordered unit under an all
pervading rule. [Us name is :

(1) Gravitational law

(2) Law of Destiny

(3)

(4) Law of Action and Reaction

Law of Rit

In the following Upanisad, we have a
knowledge-full — dialogue  between
Nachiketa and Yama. The name of this
famous Upanisad is

(h
(2)
(3)
()

Brhadaranyaka Upanisad
Aitarey Upanisad
Mandukya Upanisad
Kathopanisad

Who rejects qualitative difference in
pleasures ?
(1 Mill

(3) Socrates

(2) Bentham

(4) Plato
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‘Duty for the sake of duty.” This moral
principle is refated to

(1) Ethical Hedonism

(2) Utilitarianism

(3) Decontological Ethics

(4) Psychological Hedonism

Aristotle believed that :

(1) Virtues are innate.

(2) Virtues are acquired by practice.
(3) Virtues arc given by God.

(4) Virtues are given by socicty.

*Dharma’ purusharth is first to other

three  purusharthas. It’s  place  of

priority indicates that :

(1) Artha, Kama and Moksha arc
lower purusharthas.

(2) The three become purusharthas in
connection and reference  with
‘Dharma’.

Purusharthas are not rclated to
each other.

Moksha purushartha merges all
other three in it.

(3)
(4)

It you do a right thing but take a bribe
for doing that right thing. then you
spoil its rightness. According  to
Gandhian ethics, this will fall under
the following :

(1) Impurity of means
(2) Impurity of Ends
(3) Moral action

(4) Asteya or non-stealing

Categorical imperative :
(1)

(2) Itisrelative.

It is universal.

(3) Itis subjective.

(4)

It is factual.
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You see an accident on the road and

take the injured to hospital who
happened to be your cousin. So you
spent money and time for his recovery.
According to Kantian moral theory.
your action cannot be called a *moral
action” because :

(1) You did not try to book the culprit.
(2) You took him to ncarest hospital
while you should have taken him
to “super speciality” hospital.

You did all good things with injured
because he was your cousin.

You did not care for his mobile

and pursce.

Arjuna was not prepared to fight
Kurukshetra-war in the beginning and
was arguing against fighting war. His
approach to the problem was named
by Shri Krishna :

(1) Nishkama Karmayoga
(2) Karma-Palayana

(3) Bhakti yoga

(4) Buddhi yoga

In Jainism liberated
(Jivanmukt) is called
(1) Arhat (2)
(3) Sthita Prajna (4)

person

Kevali
Samatva Yogi

Deterrant theory of punishment was

not found morally tenable because it :

(1) considers a criminal as a tool to
stop crime.

(2) gave no opportunity for reform.

(3) offered punishment stricter than a
crime.
(4) inflicted fear for crime, rather

than realisation of crime.

The language of the Ashokan
inscriptions is :

(1) Prakrit

(2) Prakrit & Kharoshthi

(3) Prakrit, Kharoshthi & Aramaic

(4) Prakrit, Aramaic & Greek
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Therigatha is a part of
(1) Sutta Pitaka

(2) Vinay Pitaka

(3) Abhidhamma Pitaka
(+4) Dirghanikava

Which session of the Indian National

Congress — approved  “Gandhi-lrwin
Pact™ ?
(1) Lahore Session

(2) Calcutta Session
(3) Tripura Session

(4) Karachi Session

Which “Shlok™ of Prayag Prashasthi
gives  a  deseription of - Samudra
Gupta’s wars against the Nagas 7
(1) Third (2) Fourth
(3) Sixth (<) Seventh

*‘The Mountbatten Plan® related to the
partition of India. was announced on
(1) June 3, 1947

(2) Junc 14, 1947

(3) March 31, 1947

(4) February 20, 1947

The  Estates  General  in pre-

revolutionary France was composed of

(1) The First  Estate  (Priests &
Clergymen) and  Sccond  Estate
(Nobles)

(2) Sccond and
(Common Pcople)

(3) First, Second and Third Estate

(+) Common people

Third Estate

Which of the following is not a cause
of variations in insolation ?

(1) Length of the day

(2) Rotation of the carth on its axis
(3) Angle of the inclination of the
SUn’s rays

air-mass and occan currents

(4)
05
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Who proposed the elastic rebound
theory to explain the cause of the
origin of earthquakes ?

(1) W.M. Davis (2) A.N. Strahlar
(3) A. Holms (4) H.F.Reid

Which is/are the characteristic/s of
monsoonal rainfall in India ?

(A) Monsoon rainfall is largely
governed by topography.
(B) The monsoon rainfall has a

declining trend with increasing
distance from sea.

(C) Retreating monsoon  provides
heavy rains in Central India.

Select correct answer using code given

below :

Codes :

(1) Only (A) is correct.

(2) (B)and (C) are correct.

(3) (A), (B) and (C) are correct.

(4) (A)and (B) are correct.

The most effective factor in formation
of ocecanic currents is :

(1) Salinity difference

(2) Thermal variation

(3) Prevalent winds

(4) El-Nino

Which is not a correct match ?

Pass Location in State
(1) Bom DiLa Arunachal Pradesh
(2) Nathu La Sikkim
(3) Joji La Himachal Pradesh
(4) Muling La Uttarakhand

Among the following, which districts
of Rajasthan are having more than 500
density of population in 2011 Census ?
(1) Jaipur and Alwar

(2) Jaipur and Dholpur

(3) Ajmer and Jaipur

(4) Jaipur and Bharatpur
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(2) Jm sfugan fomr
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(4) Tatr e
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(1) 25.7 yfawrd
(3) 30.7 fcera

(2) 21.9 wfawE
(4) 38.2 ufeua
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A consumer’s equilibrium establishes
at a point where

MU, P,
Mg, v,
MU, P,
(2) M. TP Marginal utility of
Income
MU, MU,
(3) —p—="p_ = Marginal utility of
[ 2 .
Income
(4) All of these
When the chcr\.’c Bank of India

lowers the reserve requirements
(1)

investors will
government securitics.

purchase

(2)
(3)
(4

banks will create more money.
banks must hold less money.

people will deposit more money.

The banks are required to maintain a
certain ratio between their cash in
hand and total assets, this is called

(1) CLR (2) SLR
(3) SBR (4) CBR
Which wing of the NITI Aayog

comprises of the Chief Ministers of all
states and Lt. Governors of Union
Territories ?

(1) The  Full-time

Framework

(2) Team India Wing
(3) The Consultancy Wing
(4) The Governing Council

Organisational

According to Tendulkar Committee
Methodology for the year 2011-12,
population below poverty line in India
[

(1) 25.7 pereent
(3) 30.7 pereent

(2) 21.9 percent
() 38.2 pereent
05



95.

96.

97.

05

yrft faee 32w gusie 2016
T hT B TR ?

(1) 11091 " (2) 88af
(3) 63af ) 1291

aftufora et &, 21fig Fifs 77 | g
gt e |” 98 e e 8 ?

(1) &1 3IR<
(2) foreie gt
(3) B, ARATS
(4) BeE . wEaE

freafafea § faem HifkA
At

(A) 17aigmud (i) TR
T
G U

(B) 259i€eYE (i) huEEw
R
eI
T T

(C) 32aideiyA (i) feREmal -
G|
Srefe

(D) S2ai EeNEA (iv) wETE
T
Y W
T

%
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What is the India’s rank in the 20106
Sustainable Development Goal Index 7

(h 1o (2) 88"
(3) 63 (4) 129"

“Power is everywhere not because it
embraces everything. but because it

comes  from everywhere.”  Whose
statement is this ?
(1) Hannah Arendt
(2) Michel Foucalt
(3) Hans J. Morgenthau
(4) Harold D. Lasswell
Match the following :
Constitution Relevant
Amendment Act Ruling
(A) 17" (i) Golak
Amendment Nath Ve
State ot
Punjab
(B) 25" (ii)) Keshava-
Amendment nand )
Bharti v.
State  of
Kerala
(C) 32n (1i1) Kihoto v.
Amendment Zachilhu
(D) 52 (iv) Samba-
Amendment murthy
v. State
of
Andhra
Pradesh
Codes :
(A) (B) (C) (D)
(1y (i) i) (i) (iv)
(2) (i) (1) (i) (i)
(3) () (i) () (iin)
(#) iy @) (iv) (i)



98.

99.

100,

101.

102,

Hfqa™ % 3M=de 370 % dEd W T

FYR UST i o9y goft we B | At

=BT 370(3) % g Ugala g Sifva

T Fehdl & b 31z 370 YadA A =&l

@ | ¥ Wifs 31ef B

(i) e srferger

(i) @ wfer-ufeg 6 gomel &

(i) wd &y 61 Afr-ufee 6
Il 6

(iv) S va wyHR 61 "iaum a6
ST

%l ,

() (i) s (iif) = § |
(2) (i) 3R (iv) @t & |
(3) (i) # (iv) g & |
(4) (ii) 3 (iv) @& |

TRgereRa il wemmar % fag
gt #1 seorm dfaam % fhw
=B AR ?

(1) 31935 2439 (2) 3i<®<c 2439
(3) ITITBC 243 % (4) =HE 243 @

B & OH, WdE guEEt g il
Hg?smgamzﬁﬁaq T 9T o < fee
fopg g g 2

(2) e

(1) HeH ;
(4) SRR

(3) HAMER

fFrafafaa 4 8 i “dveliertor” i &z

9 § gfrarid 12 & 2 ?

(1) gfren o spelererenadi 3 aarsi
H Sl Uehleptyy |

(2) gfen 1w wd faa 6 wqotar
<6t & =aT |

(3) S, T-T=i we Sreifife @
HOR ThHIeRT |

) Tt favg & W H waw
Tifersfierar |

& % @ Hi 8 ?
(1) d.ft. MR (2) T Shed
(3) TH. g (4) HEERa IS
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98.

99,

100.

101.

102.

The State of Jammu and Kashmir
enjoys  a special - status  under  the
Article 370 of the Constitution. But
under Article 370(3), the President
may declare that Article 370 shall
cease to be operative. This power is
subject to
(1) Public Notification.
(i1) Advice of the Union Cuum,zi of
Ministers. :
(i) Advice of the Council of
Ministers ot Jammu and Kashmir.

(1v) Recommendations of the
Constituent Assembly ot Jammu
and Kashmir.

Codes :

(1) (i) and (1) are correct.

(2) (i) and (iv) are correct.

(3) (itt) and (iv) are correct.

(4) (i1) and (iv) are correct.

Disqualitfications tor membership of the
Municipalitics arc  mentioned  under
which Article of the Constitution ?

(1) Article243 T (2) Article 243 U
(3) Article243V (4) Article 243 W

Recently, the Indian Prime Minister
Narendra Modi visited which country
to participate in *United Nations Vesak
Day’ ?

(1) Bhutan
(3) Myanmar

(2) Sri Lanka
(4) Indonesia

Which among the following do not
clearly define the term “Globalization™ ?
(1) The growing integration of
economies and societics around
the world.

The compression of the world and
the intensification of conscious-
ness of the world as a whole.

(3) The inexorable integration of
markets, nation-states and
technologies.

(4) The continuous movement of
people across the world

Who is the author of the book

“Sociology : Themes and Perspectives™ ?
(1) T.B. Bottomore
(2) Alex Inkeles
(3) M. Haralambos
(4) Maclver and Page
05



103.

104.

105.

106.

107.

108.

05

“3raT gl ¥t Sfte &, T T 7 e
FAE ?

(1) Ui ehed

(2) k., fifsmm

(3) it et

(4) TR, 0N HehEat ud 1.0, U

=i g0 arw i 8 fafie qon fafie
(1) wierfd 58 (sfaen)

(2) ufeafq srgraa

(3) wfefa

(4) wfeafags

fepgrep g foreht w2 7

(1) A Hawt  (2) Shum. g
(3) B ot (4) *.we. IEl
=T & B @ T fiwan qmfses 99 %
fou w7 2 2

(1) =it =an (2) o ufeata
(3) sfaufeafa  (4) el =EeR
ofire zoimr 3 fadwar & e s 7 &

fipe Ueh HRUT I Ieei Aal fomdT 8 2
(1) Forefar 6 st a1 Swaephd
(2) =afw

(3) IR TRy

(4) GrHTRSTeR TTEH1

I8 AUal & S 36 U ALl Sl TH
FH F U oF UF geal ¥ U 91y
@l g ?

(1) UeA.S1.58T82
(3) WS gare

(2) TS e
(4) ToIERISt i
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103.

104,

Who said that “Wherever there is life,
there is society™ ?

(1)
(2) F.H. Giddings

Alex Inkeles

(3) Morris Ginsberg

(4) R.M. Maclver and C.H. Page

Robert K. Merton has dehned “the

complex of different and  distinct
ostatuses  occupied by a single

105.

106.

107.

108.

individual™ is called

(1) Status sequence

(2) Status inconsistency
(3) Status frustration
(4) Status sct

“History ol Caste in India™ book is
written by whom ?

(1) S.V. Ketkar (2) G.S. Ghurye
(3) Herbert Risley (4) K.L. Sharma

Which one of the following characteristics
is not true about social class ?

(1) Class consciousness

(2) Ascribed status

(3) Achieved status

(4) Open system

Which onc of the following causes of
poverty is not mentioncd by David
Elesh ? '

(1) Culture or subculture of poverty
(2)

(3) Social relations

Individual

(4) Social structure

According to whom *Morale” is the
capacity ot a group of people to pull
together persistently and consistently
in the pursuits of a common purpose ?
(1) L.D. White

(2) H.G. Wells

(3) Lord Hewart

(4) Alexander Leighton



109,

110.

I

gotent o AR frafafaa § & &9 @
U s A R ¢

(1) 9@ _

(2) vt Hif Ta e

(3) T I

(4) wrE @

-1 1 e g=h-11 & Al ok
gteal % A= fou T e w1 = wn
Wﬁ%\'@l:

qet-1 Ht-11

(A) & (1) frgm X
PACINY
(B) B (2) ATITIHATI
1 ISHITH
(C) A®ITR (3) 3.3
g
(D) TESTH (4) Al gig
(5) iR @aER
%
(A) (B) (CO) (D)
(h (3 G @ (D
2) () 2 () )
3) ) B3y (1) @
@ @ (M 3 2

frmEr 9 3= T USRI U 9 39"
ITe FrEfd B

(1) Gt H &< o1 % e i
TFYM F |

(2) HrEEId W Afgenst & a9 Iafie
I U™ & |

(3) wfgenati 6 qareen fifa @ |

(4) HHRTSN AiEEN3T 3 Hige SR A |

109,

110.

1.

Which one of the following is the
motivating  factor  according  to
Herzberg ?
(1) Salary
(2) Company policy and

administration
(3)
(4)

Working conditions
Work itself

Match List-1 with List-1I and select the
correct answer by using the codes
given below the lists :

List-1 List-11
(A) Herzberg (1) Theory X and
Theory Y
(B) Maslow  (2) Hicrarchy of
Needs
(C) Mcgregor (3)  ERG Theory
(D) Alderfer (4)  Job
Enlargement
(5) Job
Enrichment
Codes :
(A) (B)y (©) (D)
() (3 G3) 2 ()
(2) (3) 2y (1) (3)
G) @ &) ) @
4 @ (1) 3 @)
The case of Vishakha and others v/s
- State of Rajasthan and others is related
to
(1) Prevention of dowry prevalent in
society.
(2) Prevention of sexual harassment
of women at workplace.
(3) Transter policy for women.
(4) Maternity leave in respect of
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working women.
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114.

05

TITE H SHEEIIRT & =i aliehi
o gftifera g

(i) fratem

(i) gaTa avE

(iii) TemmgeRTdt Titfaat

(iv) G T HTRR

A fed ™ e H wEEa & T IW H
T HI

%

(1) (i) 3R (iii)

(2) (i) 3tk (iii)

(3) (i), (iii) 3 (iv)

4 (1), (ii), (i) 3R (iv)

“GRIh U @M h wlg TS
R

(1) AR |
(2) IRE G9E 2 |
(3) YOI G £ |

(4) HEE A% T AFWA T TR
3rfias 1 gaeft o R |

HI0T Y TG TRl &

(1) ¥ Hehed

(2) ufom FrasEg
(3) gl gerETe
(4) giguame

. i & STER HH A Hr 3rf 7

(1) HgHH HET

(2) R U HH HET
(3) 4 T

(4) oTfeh H BT
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112,

113.

114.

Formal modes of  people’s
participation in administration include
(i) Elections

(i1) Pressure groups

(iii) Advisory committees
(1v) Right to Information

Sclect the correct answer by using the
code given below :

Codes :

(1) (i) and (iii)

(2) (1) and (iii)

(3) (i), (i) and (iv)

(4) (1), (i1), (iii) and (iv)

On the Buddhist Eightfold Path
leading to cessation of sufferings right
action forms

(1)
(2)
(3)
4)

the last stage
the mitial stage
the seventh stage

the stage succeeding right speech
and proceeding right livelihood.

Kant is not associated with
(1) Good will

(2) Deontology

(3) Consequentialism

(4) Rationalism

. According to the Gita the Karma-Yoga

stand for

(1) Virtuous act

(2) Detached pertormance of act
(3) Renunciation of action

(4) Performance of rituals

| S



116.

L18.

119,

ﬂquwwwﬁs%@lﬁﬁamﬂ
AR 7 T 1 Tk &9 & | TR 1Y 7
&ﬁﬁmﬁma&ﬁuﬁwaﬁaﬁ?ﬁ
R | TES amEsg Wered Mt
et 3 QT °wH A 8, 398 Tiar
$g STATER qiA ST @ il
(1) Tiefsh famg 2 |
(?) 7 ¥t vk faehea g 2 |
y) T gara @ it ot s g 2 |
(4} sifee w1 37 R 3K WA F
el U ToIRE TE 2 |

 m A ST R TR A Em g

forua a7
(1) T (2) S e
(3) TER T () g4

wrHfser 3eema Al e < e
% foru wia des & wafta s 3R
T 1 CHEHW 8 |7 T8 qieansT femeeh
TR ?
(1) fufe (2) e
3) O (4) HIEHlGTH
“qrgereal § 9 guwd e fifga € S

fee zrn Rienm % el @ wify %
&3 39 o @ 9 8 17 g8 s

fraep1 g ?
(2) R UUE shl

(1) g/
(3) Ad. 1= (4) gt

. frafofiad § @ o agEsEe fEl &

(2) AT
(3) wfgantem
(4) HEEey

. g, | T FHREe 94 i fead

3I9-@uel § faunferd feman ?
(1) 93 (2) ®:
(3) 9rda (4) 9=

26

116.

117.

118.

119.

120.

Krishna motivated Arjuna to fight the

war and war is a form of violence. It

means the Gita sanctions violence for

a good work. Inspite of this; Mahatma

Gandhi. a champion of non-violence.

is supposed as one ol the best follower

of the Gita because

(1) Gandhiji was a Hindu.

(2) Waris also an option.

(3) Violence torcefully make people
moral.

(4) Non-violence does  not mean

cowerdice and running away from

one’s duty.

“Truth is God and God is Truth’, who
says 7
(1) Gita

(31 Gandhi

{2y Jainism

(-) Buddha

The social studics is “An integration of
experience and knowledge concerning
human relations for the purpose of
citizenship education™. This definition
is given by whom ?

(1) Griffin (2) Barretal
(3) Woesley (h) Michaclis
“Curriculum embodies — all the

experiences which are utilized by the
school to attain the aims of education.”
The statement was made by

(1Y Monroe

(2) Crow and Crow

(3) T.P. Nunn

(4) Casecwell

The following are the principles of
curriculum construction, except

(1) Totality of experiences

(2)
(3) Conscrvatism
(4) Corrclation

Flexibility

. In how many sub-sections has B.S.

Bloom classificd cognitive domain ?
(1) Three (2) Six
(3) Seven (4) Five

05
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(3) HEH HUA
i s e W w9 RS

. gt fagm Mg 4 fead gR &+

He-HrE-4 YU ST 8 ?
(1) 59K (2) 3 BN
(3) 6 IHK (4) 4 THR

. frafafga faftret 4 @ =9 & faf =

e TR W e R %
Helifires IUeH & ?
(2) gl

(1) are-faang
(4) &7 9dHA

TfEeh TR e bl e ST ? 7
(1) are-faang

(2) "y

(3) @

(4) TfGTsH IeeTaq

. S 1 TR0, YETIHRH WIS 2

(1) freafa seat =

(2) USA Il B

(3) HHTCHE I H1

(4) TSRy waeh Aot @

. U fope wenr <Y Trerur wares gl <

FTd A ?
(1) soa g
(2) wedt am
(3) =reg gt
(4) FI-qv gt

. = 8 @ you-gva wmft ¥ affea w6

3.
(1)
@ﬁéq

(3)

(2)
(4)

SIS fihew
EARICIES

. 7= 8 9 = ar gmifes fagm 6w

I TIGATETh 1 &0 T B ?
(1) SUgh eI aret

(2) =T i

(3) WHh

(4) TS T Y 99T
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128.

. How many types of correlation are

found in social science teaching ?
(1) S types. (2) 3 types

(3) 6 types (4) 4 types

. Which one of the following methods is
teaching  of

most  suitable  for
geography for upper primary level ?
(1) Decbate (2) Discussion
(3) Storytelling  (4) Field trip

. Which of the following is a form of

discussion which enables “collective
creative thinking ?

(1) Debate

(2) Quiz

(3) Seminar

(4) Brain storming

. Bloom’s faxonomy is hierarchal
organization of
(1) Achievement goals
(2) Reading skills
{3) Cognitive objectives
(4) Curricular declarations
. Graphs fall under which type of

teaching aid ?

(1) Visual aids

(2) Projective aids
(3) Audio aids

(4) Audio-Visual aids

. Which of the following is not included

in audio-visual aid ?
(1) Television

(2) Documentary film
(3) Video - tape

(4) Tape recorder

Which one of the following is not the
feature of a good text-book of social
science ?

(1) Properly illustrated

(2) Child-centered

(3) Ambiguous

(4) Simple and clear language
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129, Which of the following recommendation

was not made in National Curriculum

Frame-work 20057

(1) Inclusion of 7 environmental
education at school level.

(2) Enactment of fundamental
changes in the evaluation system.

(3) Making curriculum  text-book
centric.

(4) Framing curriculum on the basis
of  cquality and  inclusive
cducation

The President of N.C.F. 2005 was
(1) Prof. Yash Pal

(2) Dr. LS. Rajput

(3) Smt. Pratibha Patil

(4) Acharya Rammurti

. As ua social studies teacher. how will

you make your teaching interesting
and effective ?

(1) By giving classwork

(2) By using audio-visual aids

(3) By telling jokes

(4) By giving homework

. Which one of the following is not the

quality of a social science teacher ?
(1) Mastery of his subject

(2) Hardworking

(3} Tolerance

() Partiality

. According to N.C.I. 2005, which one

of the following is not the objective of

tcaching  social  science . at  the

secondary stage 7

(1) Understand  the - processes  of
economic and social change.

(2) Understand  the  rights  and
responsibilitics of citizens.

(3) Appreciate the rights of  local
communities in relation to their
environment.

(4) Develop skills of  observation,
identification and classitication.
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. afYE e d geare

it JteE B 8 @ el W
W BE & Was o % 9da
T T TG IEH FETR ?

(1) e ISR =1 e

(2) TY-IACHS YR H1 Fgo
(3) TEuTeTS TR 1 ghiamr

(4) I Y ITHS THR H1 Gequ

% frafafea
weaihd A § @ #F ¥ qeried &
I=ld AR ?

(1) Fmeqes

(2) TEHTHS

(3) it

(4) HifEw

= 4 @ @ ot s yer & gham
1 feretwar 2 7

(1) Prash
(2) =fwE
(3) 3= WY fowag-tar
(4) 3re fawg-awq SEmaeHa

IS AT hl UEISHT #1 I9HT
FE % ¢ 39 gl vzt o =

U HA 7

(1) ST ST

(2) =TI B

(3) witfeufa suery s
(4) Feram=am s
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137.

. In social

studies,  which  of the

following tests offers an opportunity to

test students independent thinking ?
(1) Objective type test

(2) Short-answer type test

(3) Essay type test

(4) Very short answer type test

. Evaluation in the annual examination

belongs to which one of the following

categories of evaluation ?
(I.) Summative
(2) Formative
(3) Dia':._:nn.«ilic

(4) Oral

. Which onc of the following is the

characteristics of objective type test ? _
(1) Economical

{2) Subjective

(3) Highly reliable

(4) Poor content coverage

For undertaking a project of social
studies, what step would you follow
tirst ?

(1) Planning
(2) Choosing
(3) Providing a situation

(4) Executing
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138.

140.

141.

142.

144.

From which of the following sites has
the terracotta model of plough heen
tound ?

(1) Harappa
(3) Banawali

(2) Mohenjo-Daro
(4) Kalibangan

. Which one of the following was not

worshipped in the Rigvedic period ?
(1) Fire (2) Earth
(3) Phallus (4) Air

After which Buddhist Council did the
rise of Mahayana sect take place ?

(1) First (2) Second

(3) Third (4) Fourth

Which one of the following places was
not a provincial centre in the Mauryan
Empire ?
(1) Taxila
(3) Ujjayini

(2) Kaushambi
(4) Tosali

Kabir, Raidas and Sena were the
followers of

(1) Ramanujacharya

(2) Yamunacharya

(3) Ramananda

(4) Gorakhnatha

. Sheikh Hamiduddin Nagori was born

in
(1) Tonk
(3) Khurasan

(2) Nagaur
(4) Delhi

Mir Sayyad Ali and Abdussamad were
the court painters during the reign of
(1) Babur and Hamayun

(2) Humayun and Akbar

(3) Akbar and Jahangir

(4) Jahangir and Shahjahan
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147.

148.

149,

150.

. During Akbar’s reign Mir Bakshi was

in-charge of

() Fu'rcign Aftairs

(2) Weights and measures
(3) Military affairs

(4) Land revenue

The cavaliers of Shivaji’s army, who
were provided with horse and weapon
by the state, were called
(1) Silahdar (2)
(37 Jumladar ()

FHavaldar

Bargcer

Who was the Governor General of
[ndia when Indian National Congress
tounded ?

(1) Lord Ripon (2) Lord Lytton

(3) Lord Dufferin (4) Lord Curzon
4™ July, 1776 is considered to be
important in American History as on
this day :

(1) George Washington was elected
as the President.

(2) American  independence  was
declared.

(3) France signed a treaty of alliance
with the United States.

(4) Slavery was abolished.

The Headquarters of *The

International Court of Justice’ is

located at :

(1) New York (2) Hague

(3) London (4) Vienna
Non-aligned Movement was formally

launched at :
(1y Cairo
(3) Helsinki

(2) Bandung
(4) Belgrade
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